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Roll No. ...................................  

DD–2025 

B. Com. (Part II) EXAMINATION, 2020 

(Group—II : Compulsory) 

Paper First 

COST ACCOUNTING 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ykxr ys[kkadu dk D;k vFkZ gS \ ykxr ys[kkadu fdu fo’ks”k 
ckrksa esa foŸkh; ys[kkadu ls fHkUurk j[krk gS \ 
What is meant by Cost Accounting ? In what essential 

aspect does Cost Accounting differ from Financial 

Accounting ? 

vFkokvFkokvFkokvFkok    
(Or) 

vxzfyf[kr lwpukvksa ds }kjk lkekU; vkSlr ewY; fof/k }kjk 
LVksj ystj [kkrkcgh cukb, % 



 [ 2 ] DD–2025 

 (A-3)  

izkfIr;k¡izkfIr;k¡izkfIr;k¡izkfIr;k¡    

fnukadfnukadfnukadfnukad    bdkbbdkbbdkbbdkb;k¡;k¡;k¡;k¡    
nj izfr bdkbZ nj izfr bdkbZ nj izfr bdkbZ nj izfr bdkbZ 

¼¼¼¼`̀̀̀½½½½    

12 ebZ Ø; 400 bdkb;k¡ 59 

14 ebZ ,d vkns’k ls vkf/kD; 30 bdkb;ksa 

dh okilh 58 

20 ebZ Ø; 480 bdkb;k¡ 62 

25 ebZ Ø; 640 bdkb;k¡ 60 

28 ebZ ,d vkns’k ls Ø; 24 bdkb;ksa dh 

okilh ¼fuxZeu 3 ebZ dks½  

31 ebZ forjd ls izkIr 150 bdkb;k¡ 64 

 

fnukadfnukadfnukadfnukad    fuxZeufuxZeufuxZeufuxZeu    

3 ebZ 140 bdkb;k¡ 

4 ebZ 250 bdkb;k¡ 

8 ebZ 210 bdkb;k¡ 

16 ebZ 350 bdkb;k¡ 

24 ebZ 608 bdkb;k¡ 

26 ebZ 524 bdkb;k¡ 

izkjfEHkd ‘ks”k 1 ebZ dks 1100 bdkb;k¡ ` 60 izfr bdkbZA 
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From the following information prepare the Stores Ledger 

Account based on Simple Average method of pricing 

issues : 

Receipts 

Date Units 
Rate per 

unit (`̀̀̀) 

12 May Purchase 400 units 59 

14 May Refund of surplus from a 

work order 30 units 58 

20 May Purchased 480 units 62 

25 May Purchased 640 units 60 

28 May Refund of surplus from a 

work order 24 units (issues on 

3 May)  

31 May Received from supplier 150 

units 64 

 

Date Issues 

3 May 140 units 

4 May 250 units 

8 May 210 units 

16 May 350 units 

24 May 608 units 

26 May 524 units 

Opening balance on 1 May 1100 units of the of ` 60 per 

unit.  
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ikfjJfed dh gkYls&oh;j i)fr ds vUrxZr ,d Jfed dk 

nSfud nj ls 48 ?k.Vksa ds lIrkg dk ` 120 ikfjJfed gS rFkk 

blds vfrfjDr izfr dk;Z fd;s ?k.Vs dk ` 1.00 thou fuokZg 

vf/kykHkka’k gSA mls 8 ?k.Vs dk dk;Z djus ds fy, fn;k x;k 

ftls og 6 ?k.Vksa esa iwjk dj ysrk gSA mls cpk;s gq, le; dk 

30% izC;kft ds :i esa feyrk gSA mldh dekbZ dh dqy ?k.Vk 

nj D;k gksxh rFkk D;k vUrj iM+sxk ;fn jksou i)fr ds 

vUrxZr Hkqxrku fd;k tk, \  

A worker under the Halsey-Weir method of remuneration 

has a day rate of ` 120 per week of 48 hours plus a cost 

living bonus of ` 1.00 per hour worked. He is given an 

8 hour’s task to perform which the accomplishes in 

6 hours. He is allowed 30% of the time saved as premium 

bonus. What would be his total hourly rate of earnings 

and what difference would it make if he was paid under 

the Rowan method ?  

vFkokvFkokvFkokvFkok    

(Or) 

^mifjO;;* dh ifjHkk”kk nhft,A mifjO;; dk oxhZdj.k dhft,A 

LFkk;h] ifjorZu’khy rFkk v)ZifjorZu’khy mifjO;; dks 

le>kb,A  

Define ‘Overheads’. Give classification of overheads. 

Explain fixed, variable and semi-variable overheads.  
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ,d dEiuh nks izdkj ds ia[ks ^MhyDl* ,oa ^ikWiqyj* cukrh vkSj 
csprh gSA o”kZ ds nkSjku mRiknu dh ykxr fuEufyf[kr Fkh % 

 ` 

izR;{k lkexzh 2,40,000 

izR;{k Je 1,20,000 

mRiknu mifjO;; 1,20,000 

dqy 4,80,000 

fuEufyf[kr vfrfjDr lwpuk,¡ miyC/k gSa % 
(i) MhyDl esa ikWiqyj dh vis{kk nqxquh ykxr dh izR;{k 

lkexzh yxrh gSA 
(ii) izR;{k Je o mifjO;; MhyDl o ikWiqyj esa cjkcj&cjkcj 

foHkkftr fd;s tkrs gSaA  
(iii) izR;sd izdkj ds ia[kksa ij dk;kZy; mifjO;; izR;{k Je 

ykxr dk 200% pktZ fd;k tkrk gSA  
(iv) nksuksa gh izdkj ds ia[kksa ij foØ; ,oa forj.k mifjO;;  

` 2 izfr ia[kk gSA  
mRikfnr ,oa foØ; fd;s x;s ia[kksa dh la[;k gS % 

 mRiknumRiknumRiknumRiknu    foØ;foØ;foØ;foØ;    
MhyDl    60,000    50,000 

ikWiqyj 1,20,000 1,00,000 

;g eku yhft, fd izkjEHk ,oa vUr esa fdlh izdkj dk dksbZ 
pkyw dk;Z ugha Fkk vkSj mRikfnr ia[kksa dk izkjfEHkd LVkWd ‘kwU; 
FkkA 
vki izR;sd ia[ks dh dqy ykxr o ykHk n’kkZrs gq, ,d fooj.k 
cukb,A dEiuh dk izcU/k foØ; ewY; dk fu/kkZj.k bl izdkj 
djuk pkgrk gS fd rkfd foØ; ewY; ij 20% ykHk dek;k tk 
ldsA  
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A company produces and sells two types of fans ‘Deluxe’ 

and ‘Popular’. The cost of production for the year was as 

follows : 

 ` 

Direct Material  2,40,000 

Direct Labour 1,20,000 

Production Overheads 1,20,000 

Total 4,80,000 

Following additional information is provided : 

(i) Direct material in Deluxe type per fan costs twice as 

much as that of Popular type.   

(ii) Direct wages and overheads are to be shared equally 

between Deluxe and Popular type fan.  

(iii) Administrative overheads are to be charged at 200% 

of direct labour cost in each type of fan.  

(iv) Selling and distribution overheads are ` 2 per fan 

sold for both types.  

Number of fans produced and sold during the year : 

  Produced Sold 

Deluxe  60,000 50,000 

Popular 1,20,000 1,00,000 

Assume there is no work-in-progress either at the 

beginning or at the end and opening stock of finished fans 

are nil. You are required to prepare a statement of total 

cost and profit of 20% on selling price.   
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vFkokvFkokvFkokvFkok    
(Or) 

31 fnlEcj] 2018 dks Bsdk [kkrk la[;k 345 dk fuEufyf[kr 
O;; ,d dEiuh dh Bsdk [kkrkcgh eas fn[kk;k x;k gS % 

 ` 

lkexzh 94,000 

Iyk.V 12,000 

etnwjh 1,03,000 

LFkkiuk O;; 6,700 

Bsdk tuojh 2018 esa vkjEHk gqvk rFkk Bsdk dk ewY; 

` 4,00,000 FkkA bl frfFk rd Bsds ds ` 1,72,000 udn izkIr 

gq, tks fd izekf.kr dk;Z ds 80% FksA ‘ks”k 20% Bsdk dk;Z iw.kZ 

gksus rd jksd fy;s x;sA gkFk esa lkexzh dk ewY; ` 4,500 Fkk 

rFkk fd;k fdUrq vizekf.kr dk;Z ` 4,000 FkkA  

Iyk.V ij 10% izfro”kZ kl ekudj bl frfFk rd fn[kkrs gq, 

Bsdk [kkrk cukb, rFkk crkb, fd dEiuh }kjk ykHk dk D;k 

vuqikr ykHk&gkfu [kkrs esa ys tkuk mfpr le>k tk,xkA   

The contract ledger of a company showed the following 

expenditure on Account of Contract No. 345 at 31st 

December, 2018 : 

 ` 

Materials  94,000 

Plant 12,000 

Wages 1,03,000 

Establishment Charges  6,700 
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The contract was commenced in Jan. 2018 and the 

contract price was ` 4,00,000. Cash received on account 

to date was ` 1,72,000 representing 80 percent of the 

work certified the remaining 20 percent being retained 

until completion. The value of material on hand was  

` 4,500 and the work finished but not certified was 

` 4,000. 

Prepare an account in respect of the contract showing 

profit to date assuming depreciation on plant at 10 percent 

per annum and state the proportion of profit the company 

would be justified in taking to credit of the Profit & Loss 

Account.    

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- ,d fuekZ.kh laLFkk dk mRiknu nks fof/k;ksa ^v* vkSj ^c* ls 
gksdj xqtjrk gS fQj rS;kj LVkWd eas tkrk gSA ;g ekywe gS fd 
nksuksa fof/k;ksa esa dqy iz;qDr Hkkj dk 5% de gks tkrk gS vkSj 
10% vo’ks”k cprk gS tks ^v* vkSj ^c* fof/k;ksa dk Øe’k% ` 80 
izfr Vu rFkk ` 200 izfr Vu fcdrk gSA 
nksuksa fof/k;ksa ds lead fuEufyf[kr gSa % 

 fof/k fof/k fof/k fof/k ^̂̂̂vvvv****    fof/k fof/k fof/k fof/k ^̂̂̂cccc****    

lkexzh ¼Vuksa esa½ 1000 70 

lkexzh dh ykxr ¼izfr Vu ` esa½ 125 200 

etnwjh ¼` esa½ 28,000 10,000 

fuekZ.k O;; ¼` esa½ 8,000 5,250 

mRiknu ¼Vuksa esa½ 830 780 

fof/k ykxr [kkrs rS;kj dhft, tks nksuksa fof/k;ksa dh izfr Vu 
ykxr crk,¡A fdlh Hkh fof/k esa dksbZ LVkWd ugha FkkA  
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The product of a manufacturing concern passes through 

two processes A and B and then to finished stock. It is 

ascertained that in each process 5% of the total weight is 

lost and 10% is scrap which from processes A and B 

realises ` 80 per tonne and ` 200 per tonne respectively.  

Following are the figures relating to both the processes : 

 Process 

A 

Process 

B 

Materials (tonne) 1000 70 

Cost of Materials (` per tonne) 125 200 

Wages (`) 28,000 10,000 

Manufacturing Expenses (`) 8,000 5,250 

Output (tonne) 830 780 

Prepare Process Cost Accounts showing cost per tonne of 

each process. There was not stock in any process.  

vFkokvFkokvFkokvFkok    

(Or) 

ifjpkyu ykxr fof/k dh mi;ksfxrk Li”V djrs gq, ,d ys[k 

fyf[k,A  

Write an essay on operating costing method and explain 

its utility.  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- ;g dgk tkrk gS fd ß,d n{k ifjO;;kadu i)fr vko’;d :i 

ls ,sls ys[ks izLrqr ugha dj ik,xh tks fd ifj.kkeksa esa foŸkh; 

ys[kksa ls feyku [kk;sAÞ bl dFku dks Li”V dhft,A  
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It has been stated that “an efficient costing system will not 

necessarily produce accounts which in their result  

will agree with the financial accounts.” Explain this 

statement.  

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr lwpuk,¡ miyC/k gSa % 

LFkk;h O;; ` 25,000 

ifjorZu’khy O;; ` 20 izfr bdkbZ 

foØ; ewY; ` 30 izfr bdkbZ 

fuEufyf[kr dh x.kuk dhft, % 

(i) le&foPNsn fcUnq ¼bdkb;ksa esa½ 

(ii) ` 25,000 ykHk dekus ds fy, foØ;  

(iii) ykHk&ek=k vuqikr 

(iv) ` 3,00,000 foØ; ij ykHk 

(v) izfr bdkbZ foØ; ewY; 10% deh djus ij le&foPNsn 

fcUnqA 

The following information are available : 

Fixed Expenses ` 25,000 

Variable Expenses ` 20 per unit 

Selling Price ` 30 per unit 

Calculate the following : 

(i) Break-even point (in units) 
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(ii) Sales to earn a profit of ` 25,000. 

(iii) Profit-volume ratio. 

(iv) Profit on sales of ` 3,00,000. 

(v) Break-even point if price is reduced by 10% on per 

unit selling price.  
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